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L 14,44 L 14,44 | 14,44
F a4 L 14,41 14,41
L 14.40 {_14.40 L_14.41
4.39 4..40 4.40
i 14.38 i 1a.39 , 14.39
L 14.37 L 14.38 L 14.39
L 14,35 L 14.37 L 14.38
i la.33 i la.35 i 14,37
14,32 i 14.34 i 14.35
L 14.30 L 14.33 L 14.34
t la.29 L 1a.31 i _14.33
t la.28 i _la.30 i _14.31
I]4.28 L 14.30 L 14.31
L 1a.31 L 14.31 L_14.32
4.32 4.33 4.33
BAT (m/s?)
(Ss—A, $H1HE)
R 0. 1.0(m)
ATl a. 10. (m/sec2)
B4 3.48 3.49
L 13.54 L 3.47 L 13.49
L_13.64 L_13.47 i_13.49
i 13.54 i {3.47 L |3.48
13.84 L {3.47 L 13.48
L_13.64 L 13,47 i_13.48
L_13.54 13,47 13.48
{_13.84 L{3.47 L |3.48
L |3.63 L 13.46 {_13.48
L la.63 i 13.46 I _{3.48
L |3.63 3.4 L {3.48
3.63 3.46. 3.47
L I3.63 i {3.45 L {3.47
t_13.62 L {3.45 +{3.47
L|3.62 i 13.45 L {3.48
L 13.62 L {3.45 L {3.48
i 13.61 L [3.44 L {3.45
L]3.61 13,44 L {3.45
. |3.60 L {3.44 L {3.44
+_13.60 L 13.43 L {3.44
3.60 i _13.43 L {3.43
3.59 3.42 3.43
3.59 i 13.42 _13.42
—|3.58 —{3.41 L{3.42
. |s.58 L_13.40 L {3.41
{_13.57 i_13.40 L 13.41
i 13.57 i 13.39 i {3.40
L 13.56 L 13.38 L {3.40
. 13.58 L_13.37 L_{3.39
{_|3.58 i_13.36 i _|3.39
{3.55 L 13.35 L 13.39
L _13.55 L 13.34 L_{3.38
3.54 3.33 3.38

BT (m/s?)
42 T-T Wit O Fe KNE FE 5347 %] (Ss—A) (1/13)
23

7108



(Ss-B1, 7K¥)

(Ss—-B1, #hiHE)

RBZ7—IL
BEEZ—)

4.99 .. 4.98 4.99
—14.95 —14.95 —i4.95
—14.91 —14.90 14.91
L14.88 14.86 L14.86
—14.82 L 14.81 —{4.81
—14.77 —4.76 —44.77
—q4.73 14.72 —14.72
—{4.68 —14.87 ——14.67
L—14.63 —{4.63 —{4.64
+—14.60 _14.60 _{4.61
——14.87 +——14.57 —4.57

4.53 4.5 4.54
14.50 _14.50 4.50
{4.47 —14.46 4.47
L_14.44 ' 14.43 L14.45
—14.41 14,40 L 14.41
14.37 —14.37 L_14.38
L{4.34 _14.33 L 14.34
—14.31 L14.30 4.30
L14.28 - 14.27 L14.27
—14.25 L_14.24 —14.23

4.21 4.20 4.19
—]4.18 +14.16 —14.15
—{4.16 —{4.14 —{4.13
—14.14 14,11 4.10
—4.11 —14.08 —|4.08
L14.09 _14.06 L_14.06
—{4.06 —14.03 —14.03
—i4.03 —4.01 —]4.01
L 14.00 +13.98 + 13.99
13.97 L 13.95 L 13.97
—{3.97 —3.94 —43.95

4.00_ __ 3.94 3.92

W27
R T—)

3.08 oo 3.01 2.97
—43.09 3.01 —]2.97
—13.08 —3.01 {2.97
(_13.09 {3.01 L12.97
L13.08 13.01 —12.97
—43.09 —{3.01 12.97
—3.08 3.01 —12.97
13.08 —13.01 —1{2.97
—13.09 +—{3.01 —12.97
—]3.09 . _{3.01 _12.97
+_13.08 ——{3.01 —12.97

a.0a 3.01 2.97
—]3.08 L_{3.01 —12.97
+13.09 —{3.01 12.97
L 13.08 L _{3.01 L 12.97
—13.09 L {3.01 '\ 12.97
+13.08 ~—{3.01 »_12.97
—13.09 _{3.01 —12.97
+—13.10 L 13.01 L_{2.97
+_13.10 +—13.01 L {2.97
—i3.11 3.01 —12.97

3.12 3.01 2.97
—13.13 3.01 —2.97
—43.14 3.01 —12.97
—43.15 —13.01 —1{2.98
—13.16 —{3.01 2.8
L _13.17 ._{3.01 _12.98
—13.18 —{3.02 —12.98
—13.19 —43.02 —]2.98
L_13.21 _{3.02 2.8
—13.23 L13.02 L 12.98
—13.24 3.02 —12.98

3.28 3.03 2.98

24

0. 1.0tm)
[

a. 10. (m/sec2)
[

BT (m/s?)

0. 1.0tm)
[

a. 10.  (m/sec2)

BT (m/s?)

T=T Wit O B KNI EE 5347 4 (Ss-B1) (2/13)

7109



(Ss—B2, /KF)

BERT—IL 0. 1.0(m)
BEEAT—IL 0. 10. (m/sec2)
S.08 oo —5.07 5.07
—15.04 —15.03 S.03
—5.01 S.00 :lS.UO
+—{4.98 _14.97 —4.97
—4.95 L4.94 L 14.94
—14.92 —]4.91 L {4.91
—14.89 ——4.88 —14.88
+14.86 —14.84 —14.85
—14.82 —14.81 —i4.81
L 14.79 14.78 L_14.78
—14.76 —14.75 —14.75
4.72 4.71 4.71
.|4.68 i _14.68 +|4.68
+—{4.65 —14.65 +14.65
—]4.62 —14.62 —14.62
—14.59 —14.59 +—14.53
+—14.5S6 —1{4.56 —{4.56
L_14.53 i 14.52 L l4.52
L _14.50 L14.49 14,49
14,47 4,46 L_14.46
—4.44 4.43 —]4.43
_14.41 4.40 4.39
+{4.38 —{4.37 +14.36
—{4.36 —4.35 —14.34
L{4.34 L {4.32 L {4.31
14,32 +{4.29 + {4.29
+14.30 14.27 14,26
—14.27 —4.24 —4.24
—14.25 —4.22 —4.21
14,22 14,19 4.19
L{4.19 L14.17 " l4.18
4.16 —4.15 ‘._4.15
a2 4.13 i la13
Bifr (m/s?)
(Ss-B2, #niE)
REZT—1L 0. 1.0(m)
SRR a. 10. (m/sec2?)
2.89 .. 2.90 2.93
L12.83 L 12.90 + l2.93
. 12.89 L 12.90 L_l2.93
t__12.89 i _12.90 L |2.93
{__12.89 L_12.90 L |2.93
—12.88 —2.90 —12.93
L__12.88 i__12.90 +|2.93
__12.88 L12.90 L|2.93
L_12.88 i 12.90 + 2,92
L 12.88 +_12.89 L_12.92
12.88 12.89 —12.92
2.87 2. 69 2.92
L_12.87 i _12.89 L |2.92
—12.87 —12.89 12.91
L_12.86 +12.88 L 12.91
L 12.86 L12.88 L 12.91
L_|2.86 . 12.88 I 12.90
L |2.88 _12.88 L 12.90
L _|2.85 L12.88 L 12.90
L_|2.86 L 12.87 L_|2.839
——2.85 L_12.87 L_12.83
__l2.85 2.87 2.88
L_12.85 _12.86 _12.88
L12.85 L{2.86 L12.87
—12.85 —12.86 —2.87
_[2.84 |2.85 +_l2.87
i [2.84 i _|2.85 +_12.87
L_|2.84 L_{2.84 L12.87
L {2.84 L_{2.84 L_12.68
_[2.84 _[2.84 L _12.88
—{2.84 L 12.83 L 12.86
——{2.84 12.83 L 12.88
2.83 ________ 2.82 2.86

BAL (m/s?)

B 4-2 T-T W7 o fe KN FE 43 AR %] (Ss—B2) (3/13)

25

7110



(Ss-B3, 7K¥)

WEZT—1L
SEMRT—)
3.80 .. 3.81 3.82
L {3.77 L {3.78 13,78
L {3.73 L [3.74 L l3.75
i [3.70 L 371 L 3.72
i 13.66 L l13.e7 . !3.68
L 13.63 | 13.64 i _13.65
i 13.59 i _13.60 L 13.61
i 13.58 L 13.57 L 13.57
L la.s2 . |3.83 i 13.54
L {3.49 i {3.49 i _13.50
i {3.45 L [3.45 L 13.48
3.42 3.41 3.42
3.38 3.37 : [3.38
ER L 13.34 L {3.34
ERT i _13.30 L 13.31
. 13.28 | 13.27 L 13.27
i l3.25 . 13.23 | 13.24
L 13.21 i _13.20 L 13.20
L 13.18 ERT L 13.17
L 13.14 L 13.13 L {3.13
L {3.10 i {3.09 t {3.09
3.07. 3.06. 3.06
i 1s.03 i _13.02 ' |s.02
L 1z.98 L |2.98 i lz.99
L l2.95 L 12.95 L 12.95
L 12.91 i 12,92 L l2.92
i |2.87 i l2.89 i _l2.89
L l2.85 L 12.88 L 12.88
| |2.84 i [2.83 t 1282
| |2.82 i {2.80 L 12,79
L {2.80 L [2.78 L 12,77
L {2.77 2.75 2.74
L 273 2.72 2.71
(Ss—B3, #RIE)
WEZT—1
CERAT—)
3.80 . 3.47 3.46
L 13.50 L 13.47 | _13.46
L 13.50 L 13.47 | 13.45
13.50 L_13.47 L 13.45
i 13.50 L 13.47 L [3.45
L 13.50 L 13.47 i 13.45
i 13.50 L 13.47 L [3.45
i_|3.50 L_13.47 L_[3.45
L 13.49 L 13.47 L l3.45
| 13.49 L 13.47 | 13.45
| 13.49 L 13.47 L [3.45
3.49 47. 3.45
L 13.48 L 13.47 | [3.45
i 13.49 L 13.46 | {3.45
| 13.43 i l3.48 L [3.45
L [3.43 | 13.46 | [3.45
i 13.48 . l3.46 L [3.45
L 13.48 i l3.48 L [3.45
. [3.48 L 13.46 i [3.45
i 13.48 . l3.46 L [3.45
L 13.48 L 13.48 |_[3.45
3.47 3.48 3.45
13,47 13,48 | _[3.45
L 13.47 L 13.45 L [3.45
L 13.47 L 13.45 L 13.45
i 13.47 i la.as i [3.45
i [3.46 | _la.45 {_[3.45
L 13.46 L 13.45 L 13.45
i 13.46 L 13.44 W
I__13.46 13.44 I__13.45
L_[3.46 | la.44 | _[3.45
{13.45 L 13.44 L 13.45
3.45 3.43 3.45

% 4-2

T-T W7 O fe KN FE 53 A7 %] (Ss—B3) (4/13)

26

0. 1.0tm)
—

a 10. (m/sec2)

[

0. 1.0tm)
[

a. 10.
[

(m/sec2)

BAfT (m/s?)

B4 (m/s%)

7111



(Ss—B4, /KF)

W_ZT—)
S T—

378 . 3.78 3.77
—13.78 —13.74 —13.73
—13.72 —3.70 {3.69
_13.89 i 13.65 L 13.865
_|3.65 L_[3.861 L {3.60

3.62 —13.57 —13.56
—{3.68 13.52 {3.51
_{3.54 L13.48 L|3.47
L_[3.49 i 13.43 _13.42
+13.44 ' _13.39 _13.38
_{3.38 {3.34 —{3.33
1332 3.29 3.29
{3.27 3.26 +—13.26
—13.25 —13.24 13.24
+{3.23 _[3.22 L_{3.22
+13.22 L 13.21 +13.21
_13.20 +13.189 L_13.19
L |3.19 t_13.18 L 3.18
—13.17 L13.16 1 _13.16
+_13.15 +13.15 L 13.16
L 13.14 t_13.13 _13.13

3.12 311 3.11
+—{3.10 +{3.10 3.08
—{3.08 —{3.08 —13.07
L 13.06 L 13.05 L_13.05
t_13.04 . _|3.03 :_13.03
_13.02 _13.01 _13.01
—{3.00 —{3.00 3.00
 |2.98 L_{2.99 L_{3.00
_{2.97 +_{z.98 1 _12.99
L12.97 L 12.98 L 12.98
—]2.96 +—2.97 —12.98

2.96 2.97. 2.97

(Ss=B4, $HE)
REZ T
e T—)

2.80 2.68 2.63
—2.80 —12.66 —12.63
—12.80 +{2.66 12.63
t_|z.80 i_|2.66 L |2.63
i_|z.80 L|2.68 2.83
—12.80 —12.66 +—2.63
_|2.80 _12.66 |2.63
__|2.80 L|2.68 L|2.83
L_|z.80 . |2.68 2.83
+12.80 '+ _12.66 2.63
_|2.80 L 12.68 L|2.63

2.80. 2.66. 2.63
—2.79 L__{2.65 +12.63
—12.79 —12.65 12.63
L 12.79 +_12.65 L _|2.63
—12.79 L {2.65  12.63
12.79 +12.65 L 12.63
L12.79 _12.65 L |2.62
—12.79 L {2.65 I 12.62
+_12.78 +12.65 L12.62
12.78 t_12.65 L_|2.82

2.78 2.65 2.62
_12.78 _12.64 |2.62
—12.78 —{2.64 ——2.62
—12.77 —12.64 —12.62
L 12.77 _12.64 _|2.81
L 12.77 |2.64 L |2.61
—12.77 —2.64 —{2.61
—12.77 —12.63 —12.51
v 12.77 _12.63 L |2.81
L12.76 L |2.63 L|2.60
—12.76 +—2.63 —2.60

2.76 ... 2.63 2.60

27

0. 1.0(m
M

a. 10.
[

Q. 1.0tm)
{ L

a. 10.

)
(m/sec2)

(m/sec2)

BT (m/s?)

BT (m/s?)

7112



(Ss—-Bb, 7K)

REXT—IL 0. 1.0(m)
EERAT—IL a. 10. (m/sec2)

—4.Be 4.84 4.84
—14.80 —14.79 —14.79
—]4.76 —]4.75 14.75
L _14.71 14.70 L{4.70
L_14.66 L {4.64 —{4.65
—4.61 —]4.59 +—14.60
—14.56 +—14.54 ——14.55
i14.51 L—{4.49 —{4.50
L—14.46 —14.44 —14.44
—14.42 L_14.40 __14.40
L_14.37 —4.36 —|4.36

4.33 4.32 4.32
——]4.30 L_14.29 —{4.29
—14.28 —14.27 {4.27
L14.26 4.25 L 14.25
—14.25 L_{4.24 ' {4.23
L 14.24 {4.22 L_14.22
L4.22 +14.20 +—]4.20
—{4.21 L {4.18 L 14.19
r_14.18 —14.17 L 14.17
—]4.17 L_14.16 —14.15

4.186 4.14. 4.13
—14.14 14.12 —4.11
—14.12 —4.10 —14.09
—14.10 —14.07 —14.06
—{4.08 +—14.05 —4.04
L_14.06 L_14.02 L_14.02
—{4.03 ——14.00 —13.99
—14.01 —13.98 —13.97
L_13.98 +_13.95 +_13.95
L13.96 L 13.83 L {3.83

3.83 +—3.91 —i3.91

390 ____ 3.89 3.88

BAT (m/s?)
(Ss—B5, $hiH)
REXT—IL 0. 1.0(m)
SEEAT—IL a. 10. (m/sec2)

R R R EE R EEE Y
|

oo
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o0nQ
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LW WUOWUDUDWUOROUUDDUDWUW WWWLWwOWwLWwwewww
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WO WLDOPODDDUDDOW W WOWEOWOWE LW
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BAfT (m/s?)

28

7113



(Ss—C1, 7K¥)

f— 0. 1.0(m)
EEWAT—) a. 20. (m/sec2)

2.00 . ___ 7.02. 7.02
6.93 L 16.97 5.99
—16.86 —16.92 __16.95
{_16.80 . 16.88 L 16.91
L 16.74 L 16.84 + 16.87
16.69 —6.79 +_16.83
+{6.65 _16.74 L 16.78
L 16.61 L {6.70 L 16.73
L |6.57 —|6.65 +|6.68
16.53 .__|6.61 __16.63
I 16.49 . 16.56 L 16.58
B.44 £.49. 6.51
. 16.38 L 16.43 | 16.45
+_16.33 ~]6.38 L 16.40
L 16.27 +_16.33 +16.36
—16.22 L 16.28 + 16.30
' 16.17 —16.23 16.25
L 16.12 +_16.18 L 16.20
—16.07 6.13 _16.15
' 16.02 —|6.08 L 16.10
—15.96 +_16.02 6.04
an 5.96. 5.99
5.84 _|5.91 L15.94
5.77 —15.86 L 15.88
5.72 —15.82 15.85
5.67 + 15.77 + |s.81
5.62 L |5.72 L 15.79
5.57 —5.67 15.76
5.52 +—15.61 —16.72
5.46 L |5.56 L _15.68
5.41 L ]5.49 5.60
5.39 5.41 S.50
S.38_ ____.____ 5.41 5.41

BAfT (m/s?)
(Ss—C1, #RiHE)
REZ—1L 0. 1.0(m)
EEWAT—) 0. 10. (m/sec2)

212 . 2.46 2.73
—42.12 —12.46 —12.73
L 2.1 +_12.45 i _2.73
L {2.10 L 12.45 L 12.73
L {2.10 L 12.45 — 12.73
—{2.09 —42.45 L 12.73
+12.08 _12.45 L 12.73
L _12.07 L 12.44 12.73
L ]2.06 —12.44 —12.73
—2.05 L 12.44 __12.73
L_12.04 L 12.43 L 12.73
2 .03 2.43 2.73
—]2.01 L 12.43  12.73
r 11.89 —12.42 _12.72
L 11.98 L 12.42 L 12.72
—11.97 L 12.42 L 12.72
'+ 11.96 —12.42 L 12.72
L 11.95 L 12.42 12,71
—11.94 L 12.42 L 12.71
't 11.94 —12.42 L l2.70
—11.95 L 12.42 +12.70
11,95 2 .42 2.69
L 11.895 L_12.42 __12.69
—{1.94 L 12.42 L 12.68
—11.94 —12.42 +12.68
t 11.94 2.43 r12.67
i 11.94 i 12.43 i 12.66
11.94 L 12.43 12.65
+11.94 —12.44 2.64
I 11.94 I 12.45 L 12.863
L11.94 L 12.45 L 12.62
—]1.83 +12.46 2.60
1.83 ... 2.47 2.59

BAfT (m/s?)

29

7114



(Ss—C2(NS), /KF)

REZT—IL 0. 1.0tm
SEEAT—IL a. 5.0 (m/sec2)
2.63 2.64. 2.64
{_12.59 L_l2.59 i_12.60
i_12.55 |_|2.55 i_|2.58
]2.52 L_{2.51 L 12.51
| _|z.49 L |2.48 i 12.48
L {2.46 L_12.45 | _[2.45
{_[2.43 12,42 L_|2.42
i _|2.40 \_12.39 L_12.39
L 12.37 L |2.38 P
12,34 |_|2.33 | l2.33
12,32 L_{2.30 L 12.31
L 12.28 2.27 2.27
2.25 |_|2.23 | {2.24
L _{2.22 L 2,21 2.21
{ [2.19 | l2.18 L 12.18
L l2.18 L l2.15 | lz.16
2,12 L l2.12 | 12.13
{ 12.09 . |2.08 L [2.10
t |2.05 . |2.08 | 12.07
L l2.02 . [2.03 | [2.04
L |2.00 . {2.00 L_12.01
1.98. 1.97 1.97
i 11.98 L 11.95 i {1.95
L {1.95 L 11.93 i 11.93
t {1.93 L 11.92 L 11.92
—]1.92 —{1.91 {1.81
tf1.91 i 11.90 i 11.90
t 11.90 L 11.89 L 11.89
i 11.88 . 11.e8 i 11.88
{1.88 i 11.88 L 11.88
{1.88 . 11.88 i 11.88
i 11.88 . 11.88 : 11.88
1.88 _________ 1.87 1.88
B4 (m/s?)
(Ss—C2(NS), #hiE)
wEZT-1L 0. 1.0m
EEEAT—IL Q. 10.  (m/sec2)
2.50 . 2.89 2.81
t_12.50 L_l2.59 i_12.81
{_l2.50 {_l2.89 |_12.81
_12.50 L |2.69 L 12.81
{_lz.50 L l2.69 L lz.81
L_12.49 L_l2.69 i_12.81
| _12.49 i_l2.89 |_12.81
| _l2.49 L_|2.69 L lz.81
L l2.49 L _l2.69 i _lz.81
| 12,49 {_|2.69 | _l2.81
|_12.49 |_|2.69 L_12.81
2.49 2.89 2.81
L 12,49 i |2.69 L _l2.81
i _12.49 L {2.69 |_12.81
t |2.49 I P L |z.81
L 12,49 i_|2.68 | _l2.81
i l2.49 P i _l2.81
L |2.49 T P L |z.81
L _|2.49 L {2.68 i _l2.81
i l2.49 i |2.e8 L |2.81
L l2.48 i {2.68 L_l2.81
2.48 2.68 2.80
i _12.48 i _{2.67 ,_12.80
12,48 L {2.67 \_12.80
{_12.48 L {2.67 i _12.80
| l2.48 L [2.67 i _lz.80
i l2.48 i _|2.e6 {_l2.80
{_12.48 L_{2.66 L_12.80
—12.48 2.66 ' ]2.80
i |2.48 i _|2.e6 i _l2.79
{ 12,48 t [2.68 L 12,79
{_l2.49 ' _{2.65 12,79
2.49 2.65 2.79

BT (m/s?)
(Ss—C2 (NS)) (8/13)

55 4-2 X T-T Wr ik o> e KANEE 53 A7

30

7115



(Ss—C2 (EW), 7K-)

WEZ 7
EEER—)

3.46 ... 3.472 3.47
—13.45 —13.46 —]3.46
—13.45 —13.45 —1{3.46
(_13.44 +_13.45 L—13.45
L 13.43 L 13.44 —13.45
—13.43 —3.43 —13.44
—13.43 +13.43 L_13.43
_13.43 —13.43 —13.43
—13.43 —13.43 —13.43
—13.43 +_13.43 L_13.43
_13.43 L 13.43 L—13.43

3.42 3.42 3.42
L13.42 L_13.42 —13.42
{3.42 —13.42 —13.42
L 13.42 13.42 L13.42
+13.42 L13.42 L_13.42
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